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%PR6-4-6.m 
x = randn(1,2000); 
[b,a] = bu tter(4,20/500); 
y = filter(b,a,x); 
Y = y/std(y); 
tl= 0:.001: 1.999; 
[t2,R] = corb(y,y,2000); 
clf 
t3=t2(1800:2200); 
su bplot(3,l,l);plot(tl,y) 
ylabel('y9); xlabel('Time') 
su bplot(3,1,2);plot(t2,R);grid 
yla bel('Ry'); xlabel('LagT); grid 
su bplot(3,1,3);plot(t3,R(1800:2200)) 
ylabel('Ry ' ); xlabel('L); grid 

Time *I 



%PR6-4-7.m 
t=-1/800: le-5: 1/800; 
x=ones(l,tSl); 
[T,Rx]=corb(x,x, leS); 
y=sin(pi*t*2000); 
[T,Ryl=corb(y,y, 1 e5); 
z=cos(pi* t*2000); 
[T,Rz]=corb(z,z, 1 e5); 
su bplot(3,1,1);plot(T,Rx); grid; yla bel('Rnt) 
su bplot(3,1,2); plot(T,Ry);grid; yla bel('Rbt ) 
su bplot(3,1,3);plot(T,Rz);grid 
rlabel('Lag'); ylabel('Rc9) 



C) I(rrt*lt to- 
9'+? ' 

xq=/o 







I s = zeros(1,1000); 
s(700:799) = sl;  
randn('seed', 1000) 
n l  = randn(1,lOOO); 
x = s + n l ;  
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Time 





%PR6 8-6.m 
randnFsseedt, 2000) 
g-round(200*sqrt(pi));z=randn(1,10000 + g); 
y=sqrt(O.l)*z(g: 1000O+g-1) + randn(1,lOOOO); %-1 OdB SNR 
x=z(l : 10000); 

xx=sign(x); yy=sign(y); 
L=length(xx); 
for k=1:500 
w(k)=(sum(xx(k:L) == yy(1:L-k+l))-.5*(Gk+l))/(Lk+l); 
% .S*(Gk+l) rqd to eliminate 0.5 offset 

end 
plot(1: k,w) 
12,111 =max(w); 
disp(I'Empirica1 Delay = ',num2str(n)]) 
disp([' True Delay = ',numlstr(g)]) 
disp(('Empirica1 r = ', num2str(z)]) 
Empirical Delay = 354 

True Delay = 354 
Empirical a = 0.09791 
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